
 

 
 

–2010/2011 
212         

 
 

 
 

 
0,44m g1 250V mL

1 1P bar0
1 25t C 

1  
2 2H

2O3 8C H2SO 
3 2 0,8P bar

 
  

 
( ) 1 /M H g mol( ) 12 /M C g mol( ) 16 /M O g mol( ) 32 /M S g mol 

 
 

250m g
P=100W 


 
1 

ABC 
2  
3 B 
4  

  
sc 

  
Lc 

 fL 
 

 
 
  

 
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